

### **ABC Bid Data**

**DISTRICT 4** 16164 **NON-FEDERAL** 

PROJECT: DISTRICT 4

STATE PROJECT NUMBER: 16164I

NON-FEDERAL

**DATE BIDS OPEN:** 

FED. PROJECT NUMBER:

March 03, 2020, 2:00

SCOPE OF WORK:

LOCATION:

Resurfacing various tier 2, 3, and 4 roadways in District 4.

**COMPLETION DATE:** 

September 18, 2020

Awarded To: CONTINENTAL PAVING INC

1 CONTINENTAL DRIVE

LONDONDERRY, NH 03053

Amount: Award Date: \$4,263,091.10

Certified by: PETER.E.STAMNAS

Director of Project Development

## **Summary of Bidders**

Contractor	Bid Amount	Rank
CONTINENTAL PAVING INC 1 CONTINENTAL DRIVE, LONDONDERRY NH 03053	\$4,263,091.10	А
ALL STATES ASPHALT, INC. 325 AMHERST ROAD, PO BOX 91, SUNDERLAND MA 01375	\$4,386,203.95	В
EUROVIA ATLANTIC COAST LLC 216 MOUNT HERMON STATION ROAD, NORTHFIELD MA 01360	\$5,291,051.00	С
BROX INDUSTRIES, INC. 1471 METHUEN STREET, DRACUT MA 01826	\$5,699,461.02	D

				PS&E		1 CONTIN	'AL PAVING INC ENTAL DRIVE RRY, NH 03053	325 AMH	S ASPHALT, INC. IERST ROAD AND, MA 01375
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

#### **Items**

	T		ı		ı	ı	ı	ı	
202.6	CURB REMOVAL FOR SALVAGE	LF	9.00	\$10.00	\$90.00	\$24.00	\$216.00	\$50.00	\$450.00
206.1	COMMON STRUCTURE EXCAVATION	CY	27.80	\$300.00	\$8,340.00	\$85.00	\$2,363.00	\$450.00	\$12,510.00
304.301	CRUSHED GRAVEL	CY	2.30	\$200.00	\$460.00	\$100.00	\$230.00	\$50.00	\$115.00
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	7,088.80	\$25.00	\$177,220.00	\$20.00	\$141,776.00	\$20.00	\$141,776.00
403.11	HOT BITUMINOUS PAVEMENT, MACHINE METHOD	TON	1,282.00	\$78.00	\$99,996.00	\$77.00	\$98,714.00	\$80.00	\$102,560.00
403.119	HOT BITUMINOUS PAVEMENT, MACHINE METHOD, HIGH STRENGTH	TON	982.80	\$90.00	\$88,452.00	\$89.00	\$87,469.20	\$95.00	\$93,366.00
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	16.40	\$200.00	\$3,280.00	\$150.00	\$2,460.00	\$200.00	\$3,280.00
403.6	PAVEMENT JOINT ADHESIVE	LF	22,980.00	\$0.40	\$9,192.00	\$0.24	\$5,515.20	\$0.30	\$6,894.00
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	48,626.00	\$3.00	\$145,878.00	\$3.50	\$170,191.00	\$3.00	\$145,878.00
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	37,787.60	\$74.00	\$2,796,282.40	\$77.00	\$2,909,645.20	\$77.00	\$2,909,645.20
411.51	PLANT MIX SURFACE TREATMENT, PAVER SPOT DRAG SHIM	TON	2,900.00	\$76.00	\$220,400.00	\$82.00	\$237,800.00	\$77.00	\$223,300.00
417.	COLD PLANING BITUMINOUS SURFACES	SY	32,811.00	\$4.00	\$131,244.00	\$3.50	\$114,838.50	\$4.75	\$155,852.25
417.1181	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 1" DEEP	LF	50.00	\$15.00	\$750.00	\$10.00	\$500.00	\$15.00	\$750.00
604.0007	POLYETHYLENE LINER	EA	97.00	\$140.00	\$13,580.00	\$150.00	\$14,550.00	\$150.00	\$14,550.00
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	97.00	\$550.00	\$53,350.00	\$550.00	\$53,350.00	\$600.00	\$58,200.00
604.52	RECONSTRUCTING/ADJUSTING DRAINAGE MANHOLES	LF	3.00	\$550.00	\$1,650.00	\$550.00	\$1,650.00	\$1,200.00	\$3,600.00
608.1201	2" BITUMINOUS SIDEWALK	SY	20.10	\$40.00	\$804.00	\$40.00	\$804.00	\$95.00	\$1,909.50
608.2401	4" CONCRETE SIDEWALK	SY	297.60	\$65.00	\$19,344.00	\$75.00	\$22,320.00	\$75.00	\$22,320.00
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	33.50	\$450.00	\$15,075.00	\$450.00	\$15,075.00	\$450.00	\$15,075.00
609.01	STRAIGHT GRANITE CURB	LF	7.00	\$65.00	\$455.00	\$75.00	\$525.00	\$75.00	\$525.00
609.02	CURVED GRANITE CURB	LF	9.00	\$50.00	\$450.00	\$150.00	\$1,350.00	\$145.00	\$1,305.00
609.5	RESET GRANITE CURB	LF	227.00	\$40.00	\$9,080.00	\$50.00	\$11,350.00	\$50.00	\$11,350.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	2,500.00	\$1.00	\$2,500.00	\$1.00	\$2,500.00	\$1.00	\$2,500.00
618.7	FLAGGERS	HR	2,906.00	\$34.00	\$98,804.00	\$38.00	\$110,428.00	\$38.00	\$110,428.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$4,000.00	\$8,000.00	\$3,000.00	\$6,000.00	\$1,500.00	\$3,000.00
628.1	SAWED CONCRETE PAVEMENT	LF	93.00	\$10.00	\$930.00	\$17.00	\$1,581.00	\$15.00	\$1,395.00
628.2	SAWED BITUMINOUS PAVEMENT	LF	1,825.00	\$4.00	\$7,300.00	\$12.00	\$21,900.00	\$10.00	\$18,250.00
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	190.00	\$1.00	\$190.00	\$1.00	\$190.00	\$2.00	\$380.00
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	420.00	\$3.50	\$1,470.00	\$3.00	\$1,260.00	\$8.00	\$3,360.00

				PS&E		CONTINENTAL PAVING INC 1 CONTINENTAL DRIVE LONDONDERRY, NH 03053		ALL STATES ASPHALT, INC. 325 AMHERST ROAD SUNDERLAND, MA 01375		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total	
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	190.00	\$2.50	\$475.00	\$10.00	\$1,900.00	\$10.00	\$1,900.00	
632.912	OBLITERATE PAVE. MARKING LINE, OVER 12" WIDE	LF	420.00	\$2.50	\$1,050.00	\$10.00	\$4,200.00	\$20.00	\$8,400.00	
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	320.00	\$3.00	\$960.00	\$2.00	\$640.00	\$10.00	\$3,200.00	
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	54.00	\$90.00	\$4,860.00	\$50.00	\$2,700.00	\$20.00	\$1,080.00	
692.	MOBILIZATION	U	1.00	\$200,000.00	\$200,000.00	\$50,000.00	\$50,000.00	\$140,000.00	\$140,000.00	
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	
1006.23	SPECIAL WORK - EXTRACTED AND RECOVERED ASPHALT BINDER TESTING	\$	3,100.00	\$1.00	\$3,100.00	\$1.00	\$3,100.00	\$1.00	\$3,100.00	
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	4,000.00	\$1.00	\$4,000.00	\$1.00	\$4,000.00	\$1.00	\$4,000.00	
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00	
1010.15	FUEL ADJUSTMENT	\$	40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00	
	Totals:				\$4,289,011.40		\$4,263,091.10	\$4,386,203.95		

Alt. Totals:

Totals:

\$4,289,011.40

\$4,263,091.10

\$4,386,203.95

				PS&E EUROVIA ATLANTIC COAST LLC 216 MOUNT HERMON STATION ROAD NORTHFIELD, MA 01360		1471 METI	USTRIES, INC. HUEN STREET T, MA 01826		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

#### **Items**

	I	ī	ı		ı	1			
202.6	CURB REMOVAL FOR SALVAGE	LF	9.00	\$10.00	\$90.00	\$32.00	\$288.00	\$23.45	\$211.05
206.1	COMMON STRUCTURE EXCAVATION	CY	27.80	\$300.00	\$8,340.00	\$175.00	\$4,865.00	\$521.73	\$14,504.09
304.301	CRUSHED GRAVEL	CY	2.30	\$200.00	\$460.00	\$90.00	\$207.00	\$102.00	\$234.60
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	7,088.80	\$25.00	\$177,220.00	\$45.00	\$318,996.00	\$49.95	\$354,085.56
403.11	HOT BITUMINOUS PAVEMENT, MACHINE METHOD	TON	1,282.00	\$78.00	\$99,996.00	\$83.50	\$107,047.00	\$91.51	\$117,315.82
403.119	HOT BITUMINOUS PAVEMENT, MACHINE METHOD, HIGH STRENGTH	TON	982.80	\$90.00	\$88,452.00	\$92.00	\$90,417.60	\$113.62	\$111,665.74
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	16.40	\$200.00	\$3,280.00	\$275.00	\$4,510.00	\$326.94	\$5,361.82
403.6	PAVEMENT JOINT ADHESIVE	LF	22,980.00	\$0.40	\$9,192.00	\$0.40	\$9,192.00	\$0.53	\$12,179.40
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	48,626.00	\$3.00	\$145,878.00	\$3.85	\$187,210.10	\$5.50	\$267,443.00
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	37,787.60	\$74.00	\$2,796,282.40	\$90.00	\$3,400,884.00	\$96.17	\$3,634,033.49
411.51	PLANT MIX SURFACE TREATMENT, PAVER SPOT DRAG SHIM	TON	2,900.00	\$76.00	\$220,400.00	\$96.50	\$279,850.00	\$101.92	\$295,568.00
417.	COLD PLANING BITUMINOUS SURFACES	SY	32,811.00	\$4.00	\$131,244.00	\$4.15	\$136,165.65	\$7.22	\$236,895.42
417.1181	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 1" DEEP	LF	50.00	\$15.00	\$750.00	\$40.00	\$2,000.00	\$55.36	\$2,768.00
604.0007	POLYETHYLENE LINER	EA	97.00	\$140.00	\$13,580.00	\$125.00	\$12,125.00	\$128.38	\$12,452.86
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	97.00	\$550.00	\$53,350.00	\$700.00	\$67,900.00	\$403.94	\$39,182.18
604.52	RECONSTRUCTING/ADJUSTING DRAINAGE MANHOLES	LF	3.00	\$550.00	\$1,650.00	\$700.00	\$2,100.00	\$404.48	\$1,213.44
608.1201	2" BITUMINOUS SIDEWALK	SY	20.10	\$40.00	\$804.00	\$80.00	\$1,608.00	\$40.67	\$817.47
608.2401	4" CONCRETE SIDEWALK	SY	297.60	\$65.00	\$19,344.00	\$90.00	\$26,784.00	\$87.93	\$26,167.97
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	33.50	\$450.00	\$15,075.00	\$200.00	\$6,700.00	\$527.59	\$17,674.27
609.01	STRAIGHT GRANITE CURB	LF	7.00	\$65.00	\$455.00	\$215.00	\$1,505.00	\$87.93	\$615.51
609.02	CURVED GRANITE CURB	LF	9.00	\$50.00	\$450.00	\$325.00	\$2,925.00	\$170.00	\$1,530.00
609.5	RESET GRANITE CURB	LF	227.00	\$40.00	\$9,080.00	\$60.00	\$13,620.00	\$58.62	\$13,306.74
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	2,500.00	\$1.00	\$2,500.00	\$1.00	\$2,500.00	\$1.00	\$2,500.00
618.7	FLAGGERS	HR	2,906.00	\$34.00	\$98,804.00	\$42.00	\$122,052.00	\$44.55	\$129,462.30
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$4,000.00	\$8,000.00	\$475.00	\$950.00	\$3,575.87	\$7,151.74
628.1	SAWED CONCRETE PAVEMENT	LF	93.00	\$10.00	\$930.00	\$3.80	\$353.40	\$17.59	\$1,635.87
628.2	SAWED BITUMINOUS PAVEMENT	LF	1,825.00	\$4.00	\$7,300.00	\$1.05	\$1,916.25	\$11.72	\$21,389.00
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	190.00	\$1.00	\$190.00	\$1.25	\$237.50	\$1.17	\$222.30
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	420.00	\$3.50	\$1,470.00	\$6.00	\$2,520.00	\$3.69	\$1,549.80

				PS&E		EUROVIA ATLANTIC COAST LLC 216 MOUNT HERMON STATION ROAD NORTHFIELD, MA 01360		BROX INDUSTRIES, INC. 1471 METHUEN STREET DRACUT, MA 01826		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total	
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	190.00	\$2.50	\$475.00	\$5.25	\$997.50	\$2.93	\$556.70	
632.912	OBLITERATE PAVE. MARKING LINE, OVER 12" WIDE	LF	420.00	\$2.50	\$1,050.00	\$10.25	\$4,305.00	\$4.10	\$1,722.00	
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	320.00	\$3.00	\$960.00	\$9.75	\$3,120.00	\$4.10	\$1,312.00	
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	54.00	\$90.00	\$4,860.00	\$150.00	\$8,100.00	\$11.72	\$632.88	
692.	MOBILIZATION	U	1.00	\$200,000.00	\$200,000.00	\$300,000.00	\$300,000.00	\$199,000.00	\$199,000.00	
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	
1006.23	SPECIAL WORK - EXTRACTED AND RECOVERED ASPHALT BINDER TESTING	\$	3,100.00	\$1.00	\$3,100.00	\$1.00	\$3,100.00	\$1.00	\$3,100.00	
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	4,000.00	\$1.00	\$4,000.00	\$1.00	\$4,000.00	\$1.00	\$4,000.00	
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00	
1010.15	FUEL ADJUSTMENT	\$	40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00	
	Totals:			\$4,289,011.40			\$5,291,051.00	\$5,699,461.02		

Alt. Totals:

Totals:

\$4,289,011.40

\$5,291,051.00

\$5,699,461.02



# **PS&E Comparison**

DISTRICT 4 16164I NON-FEDERAL

				A-Bid	der	PS	\$Е	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
202.6	CURB REMOVAL FOR SALVAGE	LF	9.00	\$24.00	\$216.00	\$10.00	\$90.00	\$126.00
206.1	COMMON STRUCTURE EXCAVATION	CY	27.80	\$85.00	\$2,363.00	\$300.00	\$8,340.00	(\$5,977.00)
304.301	CRUSHED GRAVEL	CY	2.30	\$100.00	\$230.00	\$200.00	\$460.00	(\$230.00)
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	7,088.80	\$20.00	\$141,776.00	\$25.00	\$177,220.00	(\$35,444.00)
403.11	HOT BITUMINOUS PAVEMENT, MACHINE METHOD	TON	1,282.00	\$77.00	\$98,714.00	\$78.00	\$99,996.00	(\$1,282.00)
403.119	HOT BITUMINOUS PAVEMENT, MACHINE METHOD, HIGH STRENGTH	TON	982.80	\$89.00	\$87,469.20	\$90.00	\$88,452.00	(\$982.80)
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	16.40	\$150.00	\$2,460.00	\$200.00	\$3,280.00	(\$820.00)
403.6	PAVEMENT JOINT ADHESIVE	LF	22,980.00	\$0.24	\$5,515.20	\$0.40	\$9,192.00	(\$3,676.80)
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	48,626.00	\$3.50	\$170,191.00	\$3.00	\$145,878.00	\$24,313.00
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	37,787.60	\$77.00	\$2,909,645.20	\$74.00	\$2,796,282.40	\$113,362.80
411.51	PLANT MIX SURFACE TREATMENT, PAVER SPOT DRAG SHIM	TON	2,900.00	\$82.00	\$237,800.00	\$76.00	\$220,400.00	\$17,400.00
417.	COLD PLANING BITUMINOUS SURFACES	SY	32,811.00	\$3.50	\$114,838.50	\$4.00	\$131,244.00	(\$16,405.50)
417.1181	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 1" DEEP	LF	50.00	\$10.00	\$500.00	\$15.00	\$750.00	(\$250.00)
604.0007	POLYETHYLENE LINER	EA	97.00	\$150.00	\$14,550.00	\$140.00	\$13,580.00	\$970.00

604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	97.00	\$550.00	\$53,350.00	\$550.00	\$53,350.00	\$0.00
604.52	RECONSTRUCTING/ADJUSTING DRAINAGE MANHOLES	LF	3.00	\$550.00	\$1,650.00	\$550.00	\$1,650.00	\$0.00
608.1201	2" BITUMINOUS SIDEWALK	SY	20.10	\$40.00	\$804.00	\$40.00	\$804.00	\$0.00
608.2401	4" CONCRETE SIDEWALK	SY	297.60	\$75.00	\$22,320.00	\$65.00	\$19,344.00	\$2,976.00
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	33.50	\$450.00	\$15,075.00	\$450.00	\$15,075.00	\$0.00
609.01	STRAIGHT GRANITE CURB	LF	7.00	\$75.00	\$525.00	\$65.00	\$455.00	\$70.00
609.02	CURVED GRANITE CURB	LF	9.00	\$150.00	\$1,350.00	\$50.00	\$450.00	\$900.00
609.5	RESET GRANITE CURB	LF	227.00	\$50.00	\$11,350.00	\$40.00	\$9,080.00	\$2,270.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	2,500.00	\$1.00	\$2,500.00	\$1.00	\$2,500.00	\$0.00
618.7	FLAGGERS	HR	2,906.00	\$38.00	\$110,428.00	\$34.00	\$98,804.00	\$11,624.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$3,000.00	\$6,000.00	\$4,000.00	\$8,000.00	(\$2,000.00)
628.1	SAWED CONCRETE PAVEMENT	LF	93.00	\$17.00	\$1,581.00	\$10.00	\$930.00	\$651.00
628.2	SAWED BITUMINOUS PAVEMENT	LF	1,825.00	\$12.00	\$21,900.00	\$4.00	\$7,300.00	\$14,600.00
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	190.00	\$1.00	\$190.00	\$1.00	\$190.00	\$0.00
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	420.00	\$3.00	\$1,260.00	\$3.50	\$1,470.00	(\$210.00)
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	190.00	\$10.00	\$1,900.00	\$2.50	\$475.00	\$1,425.00
632.912	OBLITERATE PAVE. MARKING LINE, OVER 12" WIDE	LF	420.00	\$10.00	\$4,200.00	\$2.50	\$1,050.00	\$3,150.00
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	320.00	\$2.00	\$640.00	\$3.00	\$960.00	(\$320.00)
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	54.00	\$50.00	\$2,700.00	\$90.00	\$4,860.00	(\$2,160.00)
692.	MOBILIZATION	U	1.00	\$50,000.00	\$50,000.00	\$200,000.00	\$200,000.00	(\$150,000.00)
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00
1006.23	SPECIAL WORK - EXTRACTED AND RECOVERED ASPHALT BINDER TESTING	\$	3,100.00	\$1.00	\$3,100.00	\$1.00	\$3,100.00	\$0.00

Friday, March 6, 2020 Page 7 of 8

1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$ 4,000.00	\$1.00	\$4,000.00	\$1.00	\$4,000.00	\$0.00
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$ 15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$ 40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	\$0.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$ 100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00	\$0.00

**Total:** \$4,263,091.10 \$4,289,011.40 (\$25,920.30)

Friday, March 6, 2020 Page 8 of 8